                               标准预测试卷二

                             Section Ⅰ  Listening Comprehension

(30 minutes)
 Directions:

     This section is designed to test your ability to understand spoken English. You will hear a selection of recorded materials and you must answer the questions that accompany them. There are THREE parts in this section, Part A, Part B and Part C.

     Remember, while you are doing the test, you should first put clown your answers in your test booklet. At the end of the listening comprehension section, you will have 5 minutes to transfer all your answers from your test booklet to ANSWER SHEET 1.

     If you have any questions, you may raise your hand NOW as you will not be allowed to speak once the test has started.

     Now look at Part A in your test booklet.

                                        Part A

     For questions 1 - 5, you will hear a passage. While you listen, fill out the blanks with the information you have heard. Some of the information has been given to you before the blanks. You will hear the recording twice. You now have 25 seconds to read the questions below.

      1. People over the age of 65 in the USA are called ________________. 

     2. It is unusual for people over 65 to live with ________________.

      3. The old men who enjoy their lives associate with their fellows who ________________.

      4. The number of the citizens over 65 in the US is increasing rapidly because ________________.

     5. The average life span for Americans is now ________________.

                                        Part B

     For questions 6 - 10, you will hear a passage. While you listen, answer these questions. You will hear the recording twice. You now have 25 seconds to read the questions below.

       6. Why did Mark Twain travel a lot?

       7. When did Mark Twain move to Hannibal?

       8. What did he do on the Mississippi and why did he give up the job?

       9. What is his final purpose to travel around the country giving lectures?

      10. Where are his writings from?

                                        Part C

      You will hear three dialogues or passages. Before listening to each one, you will have 5 seconds to read each of the questions, which accompany it. While listening, answer each question by choosing A, B, C or D. After listening, you will have 10 seconds to check your answer to each question. You will hear each piece only once.

      Questions 11 -13 are based on the following monologue. You now have 15 seconds to read the questions 11 - 13.

      11. Who is the speaker?

          [A] The dean of students.

          [B] A student of the Students' Union.

          [C] A teacher.

          [D] A manager.

      12. Why will Building 1 be the only dormitory open?

          [A] In order to watch the students closely.

          [B] To reduce the heating cost.

          [C] To keep all the students in the school more safe.

          [D] To reduce lighting cost.

      13. Which one will maintain their regular hours?

          [A] The dining houses.

          [B] The library.

          [C] The computer center.

          [D] The college administration offices.

      You now have 30 seconds to check your answers to questions 11 - 13.

      Questions 14 - 16 are based on the following passage. You now have 15 seconds to read the questions 14 - 16.

      14. How much of Finland's surface is covered with thick forests?

          [A] About 67%.

          [B] About 50%.

          [C] 100%.

          [D] 66%.

     15. Why are there no trees in the northern part of the country?

          [A] Because of its cold weather.

          [B] Because people cut down all the trees there.

          [C] Because there is a desert in the northern part.

          [D] Because all the trees are destroyed by wars.

      16. Which of the following countries did, not occupy Finland, according to the passage?

          [A] Sweden.

          [B] Denmark.

          [C] Russia.

          [D] Germany.
   You now have 30 seconds to check your answers to questions 14 - 16.

  Questions 17 - 20 are based on the following passage. You now have 20 seconds to read the questions 17 - 20.

  17. According to the passage, which country's students scored the highest in math?

      [A] Singapore.

      [B] America.

      [C] Japan.

      [D] England.

  18. What kind of students are most likely to become top scorers?

      [A] The boys.

      [B] The girls.

      [C] The students in Europe.

      [D] The students who had well-educated parents.

  19. In which subject did girls score lower than boys?

       [A] Physics and chemistry.

       [B] History.

       [C] Life and environment sciences.

       [D] Math.

  20. In what way do Kuwait students differ from Korean students?

       [A] Korean students are more optimistic.

       [B] Kuwait students are more optimistic.

       [C] They are both pessimistic.

       [D] There are no differences.

  You now have 40 seconds to check your answers to questions 17 - 20.

  You now have 5 minutes to transfer all your answers from your test booklet to ANSWER SHEET 1.

  That is the end of Listening Comprehension.

Section Ⅱ  Use of English

(15 minutes)

Directions:

    Read the following passage. Choose the best word for each number blank and mark A, B, C or D on ANSWER SHEET 1.

   Most musicians agree that the best violins were made in Cremona, Italy, about 200 years ago. These violins sound better than any others. They even sound    21    violins made today. Violin makers and scientists try to make    22    like the old Italian violins.    23    they aren't the same. Musicians prefer the old ones. No one really knows    24    these old Italian violins are so special,    25    many people think they have an answer.

     Some people think it is the age of the violins. But not all old violins sound wonderful. Only the old violins from Cremona are    26   .
      Other people think that the    27    to those violins is the wood. The wood of the violin is very important. It must be from certain kinds of trees. It    28    too young or too old. Perhaps the violin makers of Cremona knew    29    special about wood for violins.

      But the kind of wood may not be    30    important.    31    may be more important to cut the wood in a special way. Wood for a violin must be cut very carefully. It was to be the right size and    32    . The smallest difference will change the sound of the violin. Musicians    33    think that this was the secret of the Italians.    34    they understood more than we do about how to cut the wood.

      Size and shape may not be the answer    35    Scientists measured these old violins very care- fully. They can make new ones that are exactly the same size and shape. But the violins do not sound     36    the old ones. Some scientists think the secret may be the varnish. Varnish is what covers the wood of the violin. It makes the wood    37    shiny. No one knows       38    the Italian violin makers used in their varnish. So no one can make the same varnish today. There may never be other violins    39    the violins of Cremona. And there are not very many of the old violins    40   . 
      21. [A] better than   [B] worse than   [C] more than     [D] rather than

      22. [A] equipment   [B] devices     [C] instruments    [D] facilities

      23. [A] Yet         [B] Hence      [C] Thus         [D] Besides

      24. [A] why        [B] how        [C] where        [D] in that

      25. [A] so          [B] whatever    [C] whereas      [D] however

      26. [A] strange      [B] peculiar     [C] special       [D] odd

      27. [A] mystery     [B] success      [C] characteristic  [D] secret

      28. [A] can be      [B] may be      [C] must not be   [D] may not be

      29. [A] something    [B] anything     [C] nothing     [D] some thing

      30. [A] too         [B] so          [C] very        [D] much

      31. [A] Here        [B] They        [C] It          [D] That

       32. [A] shape      [B] model       [C] figure       [D] form

       33. [A] some day    [B] some times   [C] some time   [D] sometimes

       34. [A] Surely      [B] May be      [C] Perhaps      [D] Might

       35. [A] either      [B] neither      [C] too          [D] nor

       36. [A] better than   [B] as well as   [C] as well       [D] as good as

       37. [A] look       [B] sound       [C] see          [D] watch

       38. [A] in which    [B] what        [C] whatever     [D] that

       39. [A] like       [B] as well       [C] alike        [D] as

       40. [A] remain     [B] leave        [C] remained     [D] left

Section Ⅲ  Reading Comprehension

(60 minutes)

Part A

     Directions:

     Read the following four passages. Answer the questions below each passage by choosing A, B, C or D. Mark your answers on ANSWER SHEET 1.

                                      Passage 1
     Children start out as natural scientists, instinctively eager to investigate the world around them. Helping them enjoy science can be easy—there is no need for a lot of scientific terms or expensive lab equipment. You only have to share your children's curiosity. Firstly, listen to their questions. I once visited a classroom of seven-year-olds to talk about science as a career. The children asked me "textbook questions" about schooling, salary and whether I liked my job. When I finished answering , we sat facing one another in silence. Finally I said, "Now that we've finished your lists, do you have questions of your own about science?

      After a long period of pause, a boy raised his hand, "Have you ever seen a grasshopper eat? When I try eating leaves like that, I get a stomachache. Why?"

      This caused a series of questions and discussions that lasted nearly two hours.

      Secondly, give them time to think. Studies over the past three decades have shown that, after asking a question, adults typically wait only one second or less for a response, no time for a child to think. When adults increase their "wait time" to three seconds or more, children respond with more logical, complete and creative answers.

      Thirdly, watch your language. Once you have a child engaged in a science discussion, don't jump in with "That's right" or "Very good". These words work well when it comes to encouraging good behavior. But in talking about science, quick praise can signal that discussion is over. Instead, keep things going by saying, "That's interesting" or " I'd never thought of it that way before," or coming up with more questions or ideas.

      Never urge a child to think. It doesn't make sense, as children are always thinking, without your telling them to. What's more, this can turn a conversation into a performance. The child will try to find the answer you want, in as few words as possible, so he will be a smaller target for your disapproval.

      Lastly, show, don't tell. Real-life impressions of nature are far more impressive than any lesson children can extract from a book or a television program. Let them look at their fingertips through a magnifying glass, and they'll understand why you want them to wash before dinner. Rather than saying that water evaporates, set a pot of water to boil and let them watch the water level drop. Thus, children will get a better comprehension of what they have observed.

     41. To foster children's interest in science, the most important things for adults to do is ________.

         [A] to encourage them by saying "That's right" or "Very good" frequently

         [B] to share with the children what they are curious about

         [C] to explain difficult scientific terms for them patiently

         [D] to offer their children good lab devices and equipments

     42. Which of the following words can best explain the word in the first line "instinctively" ?

          [A] Passionately.

          [B] Actively.

          [C] Impulsively.

          [D] Interestingly.

     43. According to the passage, children tend to give more logical, complete and creative answers if adults ________.

          [A] encourage them to ask questions of their own

          [B] urge them to think and give immediate answers

          [C] give them more than three seconds to think after a question

          [D] give them time to have a fierce discussion

     44. In order to make children have good behavior, what should the adults do?

          [A] To give quick praise like "That is right" or "Very good".

          [B] To say "That is interesting".

          [C] To ask many questions and inspire them to think.

          [D] To show and not to tell.

     45. Which of the following skills does the writer not mention when the adults want to have children enjoy science?

          [A] The adults should tell their children what to do and how to do.

          [B] The adults should offer their children the chance to see things for themselves.

          [C] The adults should give more time for the children to think before their answering.

          [D] The adults should encourage their children to ask questions of their own.

Passage 2

     Education is one of the key words of our time. A man without an education, most of us believe, is an unfortunate victim of adverse circumstances, deprived of one of the greatest twentieth-century opportunities. Convinced of the importance of education, modern states " invest " in institutions of learning to get back "interest" in the form of a large group of enlightened young men and women who are potential leaders. Education, with its cycles of instruction so carefully worked out, punctuated by textbooks—that purchasable wells of wisdom—what would civilization be like without its benefits?

     So much is certain: that we would have doctors and preachers, lawyers and defendants, marriages and births—but our spiritual outlook would be different. We would lay less stress on "facts and figures" and more on a good memory, on applied psychology, and the capacity of a man is to get  along with his fellow-citizens. If our educational system were fashioned after its bookless past we would have the most democratic form of "college" imaginable. Among tribal people all knowledge inherited by tradition is shared by all; it is taught to every member of the tribe so that in this respect every- body is equipped for life.

      It is the ideal condition of the "equal start" which only our most progressive forms of modern education try to regain. In primitive cultures the obligation to seek and to receive the traditional instruction is binding to all. There are no "illiterates"—if the term can be applied to peoples without a script—while our own compulsory school attendance became law in Germany in 1642, in France in 1806, and in England in 1876, and is still non-existent in a number of "civilized" nations. This shows how long it was before we deemed it necessary to make sure that all our children could share in the knowledge accumulated by the "happy few" during the past centuries.

     Education in the wilderness is not a matter of monetary means. All are entitled to an equal start. There is none of the hurry, which, in our society, often hampers the full development of a growing personality. There, a child grows up under the ever-present attention of his parents' and therefore the jungles and the savannahs know of no "juvenile delinquency". No necessity of making a living away from home results in neglect of children, and no father is confronted with his inability to "buy" an education for his child.

     46. Why do modern states invest in institutions of learning?

          [A] To get a repayment for what an individual's education has cost.

          [B] To get rewards for what they have spent.

          [C] To charge interest.

          [D] To give all the children free education.

     47. How did the primitive people pass the accumulated knowledge on to the next generation?

         [A] They wrote the knowledge down on papers.

         [B] They had the happy "few" enjoy it.

         [C] They taught it to those who have good memories.

         [D] They had every one of tile tribe share it and orally passed it on.

    48. Formal education in modern societies ________.

         [A] makes sure there are no illiterates

         [B] comes into being relatively recently

         [C] is enjoyed only by the noble people

         [D] is free to everyone who is a citizen

    49. According to the author, among tribal people, ________.

         [A] children have time to develop at their own pace

         [B] the parents face the embarrassment not to be able to afford the children's education

         [C] the parents neglect the growth of their children

         [D] children can acquire knowledge by playing in the jungles

    50. Which of the following is wrong?

           [A] Our own compulsory school attendance first became law in German in 1642.

          [B] "equal start" is the ideal modern education is trying to regain.

          [C] The real equality of opportunity in education is only to be found in a modem society.

          [D] An illiterate man in modem society is deprived of one of the greatest opportunities.

Passage 3

     If the population of the earth goes on increasing at its current rate, there will eventually not be enough resources left to sustain life in the planet. By the middle of the 21 st century, if present trends go on, we will have used up all the oil that drives our cars, for example. Even if scientists develop new ways of feeding the human race, the crowded conditions on the earth will make it necessary for us to look for open space somewhere else. But none of the other planets in our solar system are capable of supporting life at present. One possible solution to the problem, however, has recently been suggested by an American scientist, Professor Cart Sagan.

      Sagan believes that before the earth's resources are completely exhausted it will be possible to change that atmosphere of Venus and so create a new world almost as large as the earth itself. The difficulty is that Venus is much hotter than the earth and there is only a tiny amount of water there.

      Sagan proposes that algae organisms that can live in extremely hot or cold atmospheres and at the same time produce oxygen should be bred in conditions similar to those on Venus. As soon as this has been done, the algae will be placed in small rockets. Spaceships will then fly to Venus and fire the rockets into the atmosphere. In a fairly short time, the algae will break down the carbon dioxide into oxygen and carbon.

      When the algae have done their work, the atmosphere will become cooler but before man can set foot on Venus, it will be necessary for the oxygen to produce rain. The surface of the planet will still be too hot for man to land on it but the rain will eventually fall and in a few years something like earth will be reproduced on Venus.

      If the experiments are successful, life will become possible there but it will not be pleasant at first. When they go to Venus, the first colonists will have to take plenty of water with them and get used to days and nights lasting 60 earth-days. But there will also be some advantages. The colonists will live longer because their hearts will suffer less strain than on the earth. Apart from that, they will be exploring a new world while those still in the earth are living in closed, uncomfortable conditions. Perhaps it will be the only way to ensure the survival of the human race. The prospect might be very promising but before all these come true, it is every one's responsibility to protect the earth.

      51. In the author's opinions, which one would be the most insolvable problem caused by population growth?

           [A] Lack of oil.

           [B] Lack of food.

           [C] Lack of space.

           [D] Lack of resources.

       52. In the author's opinions, ________.

          [A] Venus is likely to be able to be inhabited by the people from the earth now

         [B] we have successful plans to solve the crowded conditions on the earth

         [C] the most urgent thing is that we are short of resources on earth

         [D] now the earth is the most suitable planet to live on

     53. Professor Carl Sagan believes that Venus might house the people from the earth as long as ________.

         [A] we fire the rockets containing algae into the atmosphere of Venus

         [B] we change Venus temperature

         [C] we make it possible to rain on Venus

         [D] we change the atmosphere on Venus

     54. The reason why colonists will probably live longer is that ________.

          [A] their hearts will suffer less strain than on the earth

          [B] they live in a less crowded and less polluted world

          [C] the days and nights on Venus are much longer than on the earth

          [D] the life on Venus will be more comfortable than on the earth

     55. Which of the following is true?

          [A] As long as algae produces enough oxygen on Venus, people can land there.

          [B] To live on Venus is the only way to ensure the survival of human race.

          [C] Venus is possibly very similar to the earth both in size and mass.

          [D] Life on Venus will be pleasant at first.

Passage 4

     In Britain, strictly speaking, there are three elements in Parliament—the Crown, the House of Lords and the House of Commons. The House of Commons is by far the most powerful and important of the three elements in Parliament and the Prime Ministers is the leader of the majority party in the House of Commons. After a general election in Britain, the Crown appoints tile Prime Minister who must be the leader of the party that has won the majority seats in the House of Commons. It is the Prime Minister who organizes the Cabinet and presides over its meetings. He or she actually decides on who will be the other ministers and so on.

     The work of each minister is always kept under observation by an unofficial "Shadow Cabinet" organized by the Opposition. The Prime Minister is the head of the government. He or she has the duty to report the government's work to the King or Queen, has the right to direct all the departments, solves the issues between them and approves the decisions of departments, which do not need to be discussed in the Cabinet. He has the last word in deciding government policy.

     The Prime Minister not only has the power of appointment but also has the right to reorganize the government, speak for the government in the House of Commons on important decisions and answer the questions of the members of the House of Commons. As he or she is the leader of the majority party in the House of Commons, he or she can control parliament and influence other parties. He or she is the most influential person in Great Britain and in recent years, strong Prime Ministers have

 shown a tendency to make policy decisions on their own, in the style of American Presidents. The Prime Minister works and lives in his or her famous residence, No. 10 Downing Street. h is named after George Downing, a British diplomat in the 17th century and has a history of over two hundred years as the British Prime Minister's residence. The inside of "No. 10" has been reconstructed to suit its purposes. In it there are the Cabinet meeting hall, the Prime Minister' s office and so on. It is here that the Cabinet meets; the Prime Minister receives foreign guests, meets delegations sometimes and does other work. There is an oil painting gallery in which the portraits of all the Prime Ministers, from Robert Walpole to James Callaghan, are placed.

     56. The passage is mainly talking about __________.

           [A] the Crown in Britain

          [B] the appointment of the ministers

          [C] No. 10 Downing Street

          [D] things about the Prime Minister in Britain

     57. According to the passage, what is the function of "Shadow Cabinet" in Britain?

          [A] To watch the ministers' work.

          [B] To maintain the power of the opposition.

          [C] To put pressures on the Cabinet.

          [D] To work for the crown.

     58. Which one is not the right of the Prime Minister?

          [A] To report the government's work to the Crown.

          [B] To appoint all the ministers and reorganize the goverament.

          [C] To declare wars against other countries.

          [D] To direct all the departments.

     59. In the author's opinion, who is the most influential person in Great Britain?

          [A] The Crown.

          [B] The Prime Minister.

          [C] The House of Commons.

          [D] The House of Lords.

     60. Which one is wrong according to the passage?

          [A] No.10 Downing Street is the residence of the Prime Minister.

          [B] No.10 Downing Street also serves as the Cabinet's meeting Hall.

          [C] The Crown actually appoints the ministers.

          [D] The Prime Minister is the leader of the majority party in the House of Commons.

Part B

 Directions:

     Read the following passage carefully and then translate the underlined segments into Chinese. Your translation should be written clearly on ANSWER SHEET 2.

     This is a historic occasion. And I am particularly pleased to see Chairman Deng Xiaoping is able to be present.

     61. The Joint Declaration on the Future of Hong Kong, which we have just signed on behalf of our two Governments, is a landmark in the life of the territory; in the course of Anglo-Chinese relations; and in the history of international diplomacy. The Agreement establishes a firm basis for confidence in Hong Kong up to 1997 and beyond, and for its continued stability, prosperity and growth.

     I remember with pleasure my last visit to China in September 1982 and my discussions with Chinese leaders. At my meeting with Chairman Deng Xiaoping on that occasion we agreed to open talks on the future of Hong Kong.

     62. Our common aim was to maintain the territory's stability and prosperity. It is in a spirit of pride and of optimism about the future that I now return to sign the agreement, which is the result of those talks.

     I think you will agree that the negotiations were not always easy. At certain points there were difficult decisions to be made on both sides. There were moments of tension.

     63. To overcome these difficulties we needed to draw on a shared fund of goodwill, on friendship , and on a common commitment to Hong Kong's future. This was what made success possible. I should like to pay tribute to the dedication of the two negotiating teams and all their supporting staff, under the guidance of Sir Geoffrey Howe and State Councilor and foreign Minister Wu Xueqian. It is thanks to the imagination and resource which they showed that we can sign an agreement today.

     The agreement fully meets the political requirements of Britain and China, as well as the interests of the Hong Kong people.

     64. It provides the framework in which as a Special Administrative Region of the People's  Republic of China, Hong Kong will maintain its economic system and way of life for 50 years after the first of July, 1997. It gives Hong Kong a high degree of autonomy: Hong Kong people will administer Hong Kong and the Special Administrative Region will pass its own legislation. It allows Hong Kong to continue to decide its own economic, financial and trade policies and to participate as appropriate in international organizations and agreements. It preserves Hong Kong's familiar legal system and the rights and freedoms enjoyed there.

     65. In short it provides the assurances for future which Hong Kong needs, in order to continue to play its unique role in the world as a trading and financial center.

Section Ⅳ  Writing

(35 minutes)

     66. For this part, you are allowed 35 minutes to write a composition based on the following directions:

     Traveling is more important than reading books in order to understand the people and the world well. Let's suppose that you agree with the statement. Write an article about it.

     You should write 160 - 200 words on ANSWER SHEET 2.
 答案

　　　　　　　　　标准预测试卷（二）　
1. senior citizens　
2. their children and grandchildren　
3. have common interest and equal free time　
4. people are living longer than before　
5. more than 74 years　
6. Because circumstances usually financial circumstances forced him to do.　
7. When he was about 4 years old.　
8. His job was a river pilot and because of the outbreak of the Civil War, he gave up the job.　
9. To earn enough money to go to Europe.　
10. They are from the wealth and diversity of his own personal experiences.

 　第1～10题解析略。　
11．[答案]  A

  [解析]  文章开头部分提到 As the dean of students，it is my responsibility to ．．．，由此可以看出讲话者是学生主任。

 12．[答案]  B

  [解析]  文中提到 To reduce heating cost，Building 1 will be the only dormitory open．此句中的不定式短语 to reduce heating cost 做目的状语，说明只开放一号楼的原因。

 13．[答案]  D

  [解析]  文章后半部分提到 Only the post office and the college administration offices will maintain their regular hours．由此我们可以发现D是正确的选项。

 14．[答案]  A

  [解析]  文章第二句为 Two-thirds of its surface is covered with thick forests．．．，由此可以算出芬兰的森林覆盖面积为66.666%，跟67%最接近。

 15．[答案]  A

  [解析]  文中前半部分有这样的一句 The northern part of this country is inside the Arctic circle，where almost no trees can grow because of its cold weather．．．，所以我们选A。

 16．[答案]  D

  [解析]  文章的中间部分提到过有几个国家控制过芬兰，他们是 Sweden、Denmark、 Russia，这样可以选出合题意的选项D。

  17．[答案]  A

  [解析]  文章开篇就给出了该题的答案。从 The world’s smartest adolescents in mathematics and science are in Singapore可知A为正确答案。

 18．[答案]  D

  [解析]  文章中的 Not surprisingly，the highest scoring students had well-educated parents or．．．说明D是符合题意的。　
19．[答案]  A

  [解析]  从文中“Boys scored better than girls in physics and chemistry.”可以推断出在物理、化学学科上女生会比男生得分低。

 20．[答案]  B

  [解析]  概括总结性的题。从文中最后两句的对比中可以发现科威特学生要比韩国学生更乐观。

 21．[答案]  A

  [解析]  要解答此题需要联系上一句 These violins sound better than any others．(这些小提琴听起来音质要比别的小提琴好。)而这一句还是继续强调其好——“甚至好于今天的提琴”，联系上下文可以排除B、C、D。

 22．[答案]  C

  [解析]  instrument 一般常用来指“用于科学或艺术领域的人造器具。” equipment 尤指“具有实用价值属性的设备、装置”。device 是一个普通用词，指“为特殊目的而造的设备及器械”。facilities 是指“设施、场地”等。

 23．[答案]  A

  [解析]  通过上下文可以发现，此处应该选一个表示转折关系的连词。“提琴制作者及科学家试着制作一些像古意大利的提琴一样的小提琴，但是这些提琴还是不如古琴一样好，音乐家更喜欢古琴。”Hence 表示“因此”是一个副词。Thus 是副词，表示“如此”。而　Besides　是一个介词，表示“除……之外”。　24．[答案]  A

  [解析]  此句是说“没有人可以确切地知道为什么古意大利的提琴如此地特殊……”，how、where 及 in that 在语法及意义上都是错误的。

 25．[答案]  C

  [解析]  联系上文“No one really knows．．．”，“．．．many people think they have an answer．”及下段“Some people think．．．”和再下一段“Other people think that．．．”可以发现此处缺一个转折关系的连词。so 是表示因果关系的连词；whatever 是“无沦如何”，主要做连词或者副词；however 是一个副词。这样我们可以选出 whereas，意为“然而”。

 26．[答案]  C

  [解析]  联系上段最后一句“NO one really knows why these old Italian violins are so special．．．”可以找出答案。strange 与文意相反。peculiar 表示“特有的”，一般应该与 to 连用。odd 表示“奇怪的”。

 27．[答案]  D

   [解析]  secret 此处表示“奥秘”，文中的意思为“另一些人认为古琴音质好的奥秘在于制作它们的木头”。mystery 表示“神秘”，而 characteristic 表示“与众不同的特征”。 Success表示“成功”，一般不能与 to 连用。从下文“Musicians  33  think that this was the secret of the Italians．”中也可以找到正确的答案。

 28．[答案]  C

  [解析]  联系前文“The wood of the violins is very important．”可以发现此处应该为否定的，所以排除A、B。must not be 表示“不可以”，具有强制性，规定性。may not be 表示“可能不”，与题意不符。

 29．[答案]  A

  [解析]  做此题要联系上下文。anything 表示“太绝对”，something 与前面 perhaps 相呼应表示“Cremona 的提琴制作者应该对制作提琴的木头有一些特殊了解”。nothing与该段的论述相反：若他们不了解的话，他们就不会做出如此好的提琴了。some thing表示“某件事”，是无关的干扰项。

 30．[答案]  B

  [解析]  too 一般不用于否定句中，much 一般不用来直接修饰形容词。very 是一个迷惑项。此处 so 是承前的，整句意为“但是木头可能不像前面所说的那么重要”。very没有此项意义。

 31．[答案]  C

  [解析]  从这整个句子来看，你会发现此处缺一个形式主语宋代替真正的主语 to cut the wood in a special way。Here 与 They 及 That 不能做形式主语。

 32．[答案]  A

  [解析]  要想做好此题，应该通读全文。从下一段首句 Size and shape may not be．．．可以找到答案。此处 model　表示“模型”，figure　表示“数字”，而　form　表示“形状”，这几个词用来表示提琴的形状都是不合适的。　33．[答案]  D

  [解析]  此题比较简单，在于区分几个词的意思。sometimes　表示“几次”，some day表示“某一天”，some　time　表示“某个时间”。只有　sometimes　表示“有时”，是适合题意的。　34．［答案］  C

    [解析]  此句意思是“意大利人可能比我们更知道如何加工制作提琴的木头。”Surely通过上下文可以排除，对伐木的方式等只是一些人的猜测而已，所以不能选　Surely。 May be 及 Might 都是情态动词，而 Perhaps 是一个副词，表示“也许，可能”。

 35．[答案]  A

    [解析]  从上下文可以看出此句表示“大小跟形状可能也不是答案”。而当表示否定的“也”时应该用　either，而不能用　too。neither 与 nor 一般不能用在句尾。

 36．[答案]  D

    [解析]  此处是一个同级比较。应该注意 sound 是一个系动词，表示“听起来”。所以我们用形容问 good，而不用副词 well。A选项迷惑性比较大，因为在语法上是合题意的，如果选A就是说“科学家已经造出跟古琴一样好的琴，但是没有造出更好的。”

 通读全文可以发现根本就没有造出跟古琴一样好的琴来。

 37．[答案]  A

  [解析]  此处是make．．．be/do．．．的用法。look 在这里表示“看起来”。句意是“清漆使制作提琴用的木头看起来闪闪发亮。”watch 与 see 不能做系动词用，而 sound 不合题意。

 38．[答案]  B

  [解析]  分析一下句子结构可以发现此处缺的是句中 used 的一个宾语——未知的宾语，本句意为“没有人知道古意大利提琴制作者在清漆里用了什么。”所以我们可以排除 that 及不能做宾语的 in which 及 whatever。

 39．[答案]  A

  [解析]  通读全句可以发现此处缺一个介词。like 做介词表示“像……”，as well 是动词，表示“也”，alike 是一个表语形容词，表示“像”。as 迷惑性较大，但 as 一般做连词。

 40．[答案]  D

  [解析]  习惯用法，当我们表示“有什么东西留下来”的时候，我们习惯于用 left 来表述。

 41．[答案]  B

  [解析]  细节题。该题从第一段第二、三句容易得出答案。Helping them enjoy science can be easy——there’s no need for a lot of scientific terms or expensive lab equipment． You only have to share your children’s curiosity．(帮助孩子学习科学是容易的，没有必要给他们结识很多的科学术语或者提供高质量的实验工具。你只要共享孩子的好奇即可。)这样可以排除C、D。A选项看起来似乎合理，但作者在第五段给予反驳，所以排除A。

 42．[答案]  C

  [解析]  这是一个典型的猜词题。可以通过词的派生来解题。instinctively 来源于 instinct (本能，天性，直觉)，据此可以推断出其意义：(出于)本能的/天性的。这样可以排除A(passionately 多情地，激昂地)，B(actively 积极地)，D(interestingly 有兴趣地)而选出C。

 43．[答案]  C

  [解析]  此题来源于第四段：When adults increase their“wait time” to three seconds or more．．．(当成人把等待时间延长到三秒以上……)。A与题意无关。D选项文中没有提及，B选项作者在第六段给予反驳——Never urge a child to think．(不要催促孩子去想。)

 44．[答案]  A

  [解析]  此题通过排除法可以找出答案。B、C选项是培养孩子们对科学的兴趣的方法。D选项合文意，但是不合题意。这样可以选出A。同时通过第五段第三、四句“These words work well when it comes to encouraging good behavior．”“But in talking  about science，quick praise can signal that discussion is over．”可知A是正确答案。

 45．[答案]  A

     [解析]  排除法。通读全文之后可以发现作者在最后一段提到了B的技巧，在第四段提到C项的技巧。第一、二、三段作者提出了应该鼓励孩子们提问他们自己遇到的各种问题，这样可以得出合题意的选项是A。最后一段中有相关的论述 Don’t tell。

 46．[答案]  B

    [解析]  该题从第一段第三句 modern states“invest” in institutions of learning to get back“interest”in the form of a large group of enlightened young men and women who are potential leaders 中的 to get back“interest”可知正确答案为B。而C只是对其字面意思的理解。A、D文中没有提到。

 47．[答案]  D

    [解析]  A选项通过第三段第三句中 if the term can be applied to peoples without a script 可以排除。B选项不是原始的部落中的习俗。C选项文中没有提及。通过第二段最后一句“Among tribal people all knowledge inherited by tradition is shared by all；it is taught to every member of the tribe so that in this respect every body is equipped for life．”及第三段二、三句中 if the term can be applied to peoples without a script 可以推断出D是正确的选项。

 48．[答案]  B

    [解析]  此题可以在第三段第三句中找到答案。正规学校教育是近代才兴起的。A选项描述原始社会的状况，不适用于近代正规教育。根据上下文可以排除C，现代教育不是贵族子弟所独享的。D选项文中没有提及。

 49．[答案]  A

  [解析]  使用排除法。从文章的最后一句中 and no father is confronted with his inability to“buy”an education for his child 可以排除B。从最后一段的第四句中 ever-present可以排除C，同时可以排除D。丛林不是知识之源，而是说“孩子们时时处在父母的关心之下，所以不会去犯罪”。

 50．[答案]  C

  [解析]  第三段第三句证明A是正确的。我们可以通过第三段第一句排除B。通过第一段第二句中 deprived of one of the greatest twentieth-century opportunities 看出D是合文意不合题意的。只有C是合题意的，在文章中没有提出类似的观点。

 51．[答案]  C

  [解析]  此题的答案来源于第一段及最后一段。D选项迷惑性较大，但是通读全文，文章总的来说围绕 to look for open space somewhere else 而引出 Sagan 的实验，所以可以排除D。

 52．[答案]  D

  [解析]  这是一道细节题。通过第一段第四句“But none of the other planets in our solar system are capable of supporting life at present．”可以选出正确答案D，同时排除A。 B选项中的形容词 successful 是不准确的。通过文章第一段中的“Even if scientists  develop new ways of feeding the human race，the crowded conditions on the earth will make it necessary for us to look for open space somewhere else．”可以排除C。

 53．[答案]  D

     [解析]  要答好该题应该通读全文。要想使金星适合人居住有两个必要的条件：一是改变其较高的温度，二是使其降雨。这样我们可以看出B、C都是不完整的。A选项比较容易排除。

 54．[答案]  A

    [解析]  该题的答案在最后一段第四句可以找到。第四句为：The colonists will live longer because their hearts will suffer less strain than on the earth．即“拓殖者”活得长的原因是其心脏受到的压力小，这样可以同时排除B、C、D。

 55．[答案]  C

    [解析]  A缺乏必要的另一个条件，通过第四段第一句可知，即：before man can set foot on Venus，it will be necessary for the oxygen to produce rain．D可以通过最后一段第一句排除。B选项是个迷惑项，通观全文可以发现，移居金星只是可行方案之一，而不是惟一的。

 56．[答案]  D

    [解析]  主旨题。通读全文可以发现文章是一直在讨论关于英国首相的问题：首相的权力、住处等。所以我们选D。A选项只是提到而已。B选项是首相的权力之一。 C选项是首相的住宅，只是讨论首相的一部分内容。

 57．[答案]  A

    [解析]  细节题。此题的答案在于第二段的第一句中，即 The work of each minister is always kept under observation by an unofficial“Shadow Cabinet”organized by the Opposition．这样我们可以选出A。其余的选项文中均没有提到。

 58．[答案]  C

    [解析]  文章的第二、三段是在讨论首相的权力。即 He or she has the duty to report the government’s work to the King or Queen，but the right to direct all the departments， solves the issues between them and approves the decisions of departments．．．The Prime Minister not only has the power of appointment but also has the right to reorganize the  government．．．这样我们可以看出A、B、D均是首相的权力。C选项文中没有提到。

 59．[答案]  B

    [解析]  文章第三段第四句为 He or she is the most influential person in Great Britain and．．．据此我们可以选出正确的答案B项，剩下的均是迷惑项。

 60．[答案]  C

    [解析]  细节题。文章最后一段在讨论唐宁街十号的作用，这就排除了前两个选项。最后一个选项通过第三段第三句中“As he or she is the leader of the majority party in the House of Commons．．．”可以排除。通过第一段第四句“It is the Prime Minister who organizes the Cabinet and presides over its meetings．”可以看出任命部长实际上是首相的权力，所以C是错误的，符合题意。

 61．[翻译]  刚才我们分别代表各自的政府签署的关于香港未来的联合声明，在香港的生活中、在英中关系的历程中以及在国际外交史上都是一个里程碑。

 62．[翻译]  我们共同的目的是维护香港的稳定和繁荣。正是本着自豪和对前途充满乐观的精神，我们再次来到北京签署作为会谈成果的这项协议。

  63．[翻译]  为了克服这些困难，我们需要依靠双方共同的诚意、友情和对香港未来共同承担的义务。

 64．[翻译]  它(该协议)提供了一个框架，根据这个框架，香港作为中华人民共和国的一个特别行政区，从1997年7月1日起，将保持其原有的经济制度和生活方式50年不变。

 65．[翻译]  总而言之，协议为香港的未来提供了所需要的保证，使香港能继续作为贸易和金融中心在世界上发挥独特的作用。

 第61～65题解析略。

 66．参考范文：

                                 Traveling is Much More Important

     There is an old Chinese saying, "Read ten-thousand books and travel ten-thousand kilometers." This old saying tells us that, to understand the people and the world, reading books and traveling are both very important. But in my opinion, traveling is more important than reading.

     Nowadays books can tell us almost everything, Reading books is a common way for people to learn about the world and the people. But can we learn any details of the world and the people? I don't think so. There is much information in books. But the amount of all the information of our world is infinite. How can a book include all the information? In this case, books only have compiled the information that the editors think to be important. We can' t get all information that we want to have from hooks. So we should go and find it from the real world. Traveling gives us the way to learn the world and the people from the real world. Thus we can see the world by ourselves and we can make our own judgments.
      There is another old saying, "Seeing is believing." For we do not have enough time and money to travel, we should learn to understand the world and the people from books. But when it is convenient, we should go out to travel, looking at the world and the people with our own eyes. After all, "Travel broadens our mind."

听力原文
                                  标准预测试卷(二)

                                        Part A

      People over the age of 65 in the U. S. A. are called senior citizens. Life for these people is different from that for younger Americans. Most senior citizens retire, or no longer work full time. Also it is unusual for people of this age to live with their children and grandchildren. Grandparents tend to live in their own houses or apartments away from their families.

      For many senior citizens, the years after 65 are not enjoyable. They feel unproductive when they no longer work. Their lives lose meaning. In addition, they may feel lonely being away from their families and the contacts they had in their health, as they grow older, If they live in big cities, they often worry about their safety.

      Other senior citizens enjoy their lives. They feel free to do things they were not able to do when they were working and raising families. They now have time to enjoy hobbies and sports and travel. They associate with their fellow senior citizens who have common interests and equal free time. Many senior citizens move to retirement communities located in warm climates. Some senior citizens continue to work beyond retirement age. Many find new careers and professional opportunities after they retire.

     The number of senior citizens in the U. S. is increasing rapidly because people are living longer than before. The average life span for Americans is now more than 74 years. Because of their larger numbers and more active life styles, senior citizens are gaining social influence in the country, both politically and economically. Their concerns are receiving a wider audience than ever before. The time may come when all Americans will look forward to becoming senior citizens.

                                        Part B

     Mark Twain, who wrote many stories, traveled quite a lot often because circumstances, usually financial circumstances, forced him to do. He was born in Florida, Missouri in 1835 and moved to Hannibal, Missouri with his family when he was about 4 years old. Most people think he was born in Hannibal but that isn't true. After his father died when he was about 12, Twain worked in Hannibal for a while as a typesetter on various newspapers and then got a job as a river pilot in the Mississippi. Twain loved this job and many of his books show it. The river job didn't last, however, because of the outbreak of the Civil War. Twain was in the Confederate Army for just 2 weeks and then he and his whole company went West to get away from the war and gold without much luck, but did succeed as a writer. Once that happened Twain traveled around the country giving lectures and earning enough money to go to Europe. Twain didn't travel much the last 10 years of his life and he didn't publish much either. Somehow his travels even when forced inspired his writings. Like many others his writings are from the wealth and diversity of his own personal experiences.

                                        Part C

     Questions 11-13

     Thank you for coming to this meeting for students who will be remaining on campus during the ten days winter break. As the dean of students, it is my responsibility to explain the vacation  arrangements and to have you fill up the forms giving the dates you will be on campus. To reduce heating cost, Building 1 will be the only dormitory open. All the other dorms will close at five p. m., on Friday, February 7th, and will not reopen until six p. m. on February 16th. Once we have your  completed forms, we will assign you a room in Building 1. Please move all the belongings you will need to your temporary accommodations by the 7th, as it will not be possible to reopen the other dorms during these ten days, once they have been closed. Most college facilities will be closed during the vacation. These facilities include the gymnasium, the college store, and the dining hall. The library and the computer center will be open, though on reduced schedule. Only the post office and the college administration offices will maintain their regular hours. Since I imagine most of you are staying here to finish up academic projects of one sort or another, let me wish you luck with your work. If you have any special problems, please do not hesitate to contact me at the Dean's Office.

     Questions 14-16

     Finland is perhaps the most beautiful and mysterious of the countries of Northern Europe. Two thirds of its surface is covered with thick forests and among them lie lakes, connected with rivers and canals. The northern part of this country is inside the Arctic Circle, where almost no trees Can grow because of its cold weather and the people use their deer for transport, clothing and food.

     The Finnish history began in the Middle Ages. In about 1155, Finland Was conquered by its western neighboring Sweden. After a period of rule by Denmark in the 14th century, the Swedes won back independence and power in 1523 under their brave king, During the Napoleonic Wards (1814 -1818), Finland was passed finally from Sweden to Russia. The opportunity came in 1917, when the Russian Revolution brought foreign rule of Finland to an end. Shortly after Soviet Russia made peace with Germany, 1919 saw the founding of the Finnish Republic.

      The years between the First and Second World Wars were years of progress and growing  development. Finland has no coal or oil, and the nation's wealth lies in the timber (wood prepared for use in building, etc. ) from its forests, which supplies material for paper and furniture making, and in the electric power from its water.

      Questions 17-20

      The world's smartest adolescents in mathematics and science are in Singapore, according to a global survey of educational achievement. In the 3rd International Mathematics and Science Study, a 13 years old student from Singapore achieved the best scores in standardized tests of math and science that were administered to 287,896 students in 41 countries in 1994 and 1995. The survey suggests that science and math education is especially strong in the Far East. While behind those top scores, students from Australia earned higher marks in math than their counterparts in England, who in turn did better than American students. The study collected information on the students' teachers and homes. Not surprisingly, the highest-scoring students had well-educated parents or came from homes containing study-aids such as computers, dictionaries or even such elemental facilities as. desks. The study shows that boys generally did better than girls in science, but there was little difference between them in math. Boys scored better than girls in physics and chemistry. There were no sex differences in the life and environment sciences. In addition to being tested, students in the project were asked how proficient they thought they were in math and science. Students in some countries, such as Columbia and Kuwait, had an overly optimistic view of their skills. Meanwhile, some of the best students from Japan and Korea for example were needlessly pessimistic even though they did far better in math than almost all of other students.
